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/(\/%\A/ linear: 1()(4.}/) — [(X)i‘l(}/)

L, B = (L“Lz,...,lah) basis of \/

b, :> x€V ocan be written as X = X, L1+...+ . b
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Hence: /(X) = 1({X1 b+ o4 ‘Xth>
= ot £(5) + o L(5) + o+ o, £(b0)
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is a linear map:

basis: B = (51,L1,L3,Lq> = (MO,M,‘IVV‘LIM.?)

with mg: x >4, me x> xS

[(hﬂo) = ( g zero vector: X+ (

[(m) = kmy, o ke§tast
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f :<C1,...,C,,,>

:B = (51/'.»,190
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L> can be represented by a matrix
§(x) = Ax
K el’l—"“
First column of A: £le) = <@C0jo @;)(e1> = Q‘Bc(f(l”))

yy

Matrix representation:  For a linear map /(‘ vﬁ\/\/,

'(Ce:B = Qt(f(h)) @C(f“pl)) @ (f(l:h)) c ﬁ:mxn

is called the matrix representation of £ with respect to B and €.

Example (from before) V = ?}(R) basis: B = (L1 , Lz / l’g, Lq) = (Mo, M, ™y mz)

with i x>1, me x> x
L:V—\W

P> P) \A/ = rl),_('R) basis: = (61,61 /CJ) = (W\a,lm,l,lm,_>

is a linear map:

8, (£)) = 2,(£m))= 3,(0) = (3)eF

@E(I(Lz» = @C(f(hﬁn) = @C(‘m”> — <%>€":3
60 14 0 0

_> 1563 — (0 0 1 0> matrix representation of X
o o 0 3



